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CORPORATE FINANCE
Learning Outcome 3: ACTIVITY 9  
Adjusted present value

The APV method involves the calculation of an unlevered cost of capital (VU) and then a levered (VL) cost of capital.  The VU is the base value of the investment without any leverage: it reflects the base assumption that all of the investment will be equity financed. The VL is then calculated to reflect the financing effect of debt. 
[bookmark: _GoBack]The following formula can be used to calculate the unlevered cost of capital:

The following formula is used to calculate the levered cost of capital ():
 (or APV) = 
Effectively, the business’s unlevered cost of capital equals its pre-tax WACC.
Required: in small groups
Expected free cash flow from Avco’s project, data in respect of which is provided below.
Year						0	1	2	3	4
Incremental earnings forecast ($ million)
Sales							60.00	60.00	60.00	60.00
Cost of goods sold					(25.00)	(25.00)	(25.00)	(25.00)
Gross profit						35.00	35.00	35.00	35.00
Operating expenses				(6.67)	(9.00)	(9.00)	(9.00)	(9.00)
Depreciation						(6.00)	(6.00)	(6.00)	(6.00)
EBIT						(6.67)	20.00	20.00	20.00	20.00
Tax @ 40%					2.67	(8.00)	(8.00)	(8.00)	(8.00)
Unlevered net income
free cash flow ($ million)			(4.00)	12.00	12.00	12.00	12.00
ADD: Depreciation					6.00	6.00	6.00	6.00
LESS: Capital expenditure			(24.00)				
LESS: Increases in NWC						
Free cash flow					(28.00)	18.00	18.00	18.00	18.00

Debt to value ratio 	d		50%
Equity cost of capital	 Ke		10%
Debt cost of capital	 Kd		6%
Corporate tax rate	Tc		40%

Required:
Calculate the unlevered cost of capital.  Estimate the project’s value without leverage.


Element 3	Copyright© ABE
image1.png




